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LKINERR D>

el BE O\ MK | RS EE | £E | A% | KR RE | P
1= ! 479 | 454 | 482 | 458 | 480 | 46.6| 47.0

KA 2L 48.3 | 47.8| 49.2| 493 | 49.8| 49.2| 489

£ E K 751 B 48.4 | 49.6| 48.7| 48.6| 47.8| 49.2| 48.7

B | R B # & U | 493 475| 466 475| 495 524| 488
20m> ¥ LS| 472| 47.8| 453 46.2| 489 | 50.5| 476

F* 50 m 48.4 | 481 | 46.2| 49.2| 49.0| 484| 482
i b MR E UV 485 | 46.1| 44.8| 476 | 47.8| 487 472

R — L & T 485 | 48.3| 48.4 | 49.7| 48.6| 49.6| 48.9

w a8 F B 48.3| 476| 47.2| 48.0| 487 | 49.3| 482

i VAl 479 45.0| 484 | 450| 47.4| 46.6| 46.7

& & 2 L 48.3| 488| 49.3| 493| 50.3| 49.9] 49.3

£ E K d51 & 484 | 50.0| 48.6| 48.0| 484 | 49.3| 488

# | R B & LUV 485| 486| 46.9| 46.8| 50.3| 52.8| 49.0
20m> ¥ hILS>| 46.4| 485 | 456 46.4 | 487 | 51.2| 478

= 50 m 48.6| 485| 46.5| 495| 49.7| 483| 485
i b g &V 48.5| 46.6| 45.0| 488 | 47.8| 49.1|| 47.6

R — L & T 48.7| 49.8| 50.1| 50.9| 494 | 481| 49.5

w a8 F B 48.2 | 482 | 475 | 481 | 49.0| 49.4| 484
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pg| BE O\ K | e | FE | £ A% | mE | R | T
i 5 475 | 47.5| 488 | 47.7| 49.1| 52.0| 488

& &E 2L 49.8 | 483 | 49.3| 489| 509 | 54.9| 50.3

£ E K 81 & 51.0 | 50.8| 49.3| 49.1| 51.2| 49.7| 50.2

&K B # & U 478 | 51.3| 50.9| 49.2| 49.7| 53.4| 50.4
Fl20mo v LS| 464 480 498 550 496 49.8
7 B A x* 446 | 47.1| 496 46.9| 49.1| 33.7| 45.2
50 m 48.0| 50.0| 46.8 495| 51.1| 494 49.1

iIb Mg EUV 478 | 46.4| 45.7| 495| 49.2| 49.3| 48.0

R — L & T 49.2 | 51.3| 47.8| 47.7| 484 | 522| 49.5

w a8 F B 48.1| 49.1| 487 | 495| 49.9| 489 49.0

i 5 48.3| 47.1| 49.2| 488| 50.5| 51.8] 49.3

E K L 50.1| 46.7| 50.2| 50.3| 50.7| 51.1| 49.8

£ E K 751 B 51.3| 49.0| 50.4| 51.2| 53.5| 49.0] 50.7

kK B B &V 46.0| 484 | 51.6| 495| 49.1 | 51.9( 494

X [20mP v h)LS>| 451| 481| 486]| b54.1| 472 48.6
7 B A * 47.0| 456| 34.3| 455| 504 | 37.1| 43.3
50 m jE 48.7| 50.0| 453 51.7| 50.5| 484 49.1

i b MR E UV 476 | 46.4| 46.0| 50.5| 476 | 454| 47.2
=L & IF 49.1| 49.3| 49.1| 486| 49.1| 515 495
2= I . 48.1| 47.9| 46.9| 50.2| 49.8| 47.8| 484




